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1) Find the vertical asymptote(s) of: 
103

1
)(

2 


xx
xf         

 

 [A] y = 2,-5,-3      [B] x = 2,-5,-3,  1  [C] x =1  [D] 2,5 x   [E] None of these 

 

2) Find the horizontal asymptote(s) of: 
9

1
)(

2

2






x

x
xf  

 

[A] 1y            [B] 0y    [C] 1x   [D] 1,1x   [E] None of these 

 

3) Find the domain of: 
4

1
)(

2

3






x

x
xf  

 

[A] real All        [B] 2,  x   [C] 1,  x   [D] 2 ,1,  x   [E] None of these 

 

4) Find all x- and y-intercepts of: 
4

14
)(

2 




x

x
xf  

 

[A] 
2

14





y

x
      [B] 

intercept-y no

 ,12 2
1x

  [C] 
2

1

14





y

x
  [D] 

2
7

14





y

x
       [E] None of these 

 

5) Find the slant asymptote of: 
1

17
)(

2

23






x

xx
xf  

 
[A] 1y           [B] 7 xy   [C] 8 xy   [D] 1 xy   [E] No Slant Asym. 

 
6) Determine which function represents the graph. 
  

[A] 
2

552
)(

2






x

xx
xf  [B] 

x

x
xf

2
)(


  

 

[C] 
23

122
)(

2

23






xx

xxx
xf  [D] 

2
)(

2




x

x
xf  [E] None of these 

 
 For #7 – 11, perform the indicated operation. 

7) 
16

4

4

2
2

2






 x

x

x

x
  

[A] 
4

1

x
  [B] 

)4)(4(

)2)(2(





xx

xx
 [C] 

)4)(4(

482





xx

xx
 [D] 

)4)(4(

483 2





xx

xx

      
[E] None of these 

 

8) 
6

6

16

2410
2

2










x

x

x

xx
 [A] 

4

610 x
 [B] 

4

6





x

x

 
[C] 

6

4





x

x
 [D] 

4

10





x

x
      [E] None of these 
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9) 
34

2
1





x

x  ` [A]
 1212

43





x

x
 [B] 

823 2  xx

x
 [C] 

147  x

x
 [D] 

84

12





x

x

   
[E] None of these 

 

10) 
2

1

2

4




 xx
 [A] 

4

65
2 



x

x
 [B] 

4

65 x
  [C] 

4

5
2 x

 [D] 
2

5

x
        [E] None of these 

 

11)
21

3
1





x

x       [A] 
3

2





x

x
 [B] 

93  x

x
      [C] 

352 2 



xx

x

 
[D] 

22

12






x

x
   [E] None of these 

 

12) Solve:
 

2
13

6

13

8








x

x

x  
[A]

5

1
x   [B] 

3

1
x   [C] 

3

4
x    

[D] 
3

5
x   [E] None of these

 
 

13) Solve and write the answer in interval notation. 2
5

55






x

x
 

 

[A] 









3

5
,   [B]  








 ,5,

3

5
,  [C]  ,5               [D]  








 ,5,5,

3

10
 [E] None of these 

14) Determine which of the following is

x

y 









2

1
shifted 3 units up and 4 units to the right. 

[A] 4
2

1
3











x

y  [B] 3
2

1
4











x

y  [C] 3
2

1
4











x

y       [D] 4
2

1
3











x

y  [E] None of these 

 

15) Determine which of the following is xy 2log shifted 2 units down and 5 units to the left. 

[A] 5)2(log2  xy   [B] 2)5(log2  xy  [C] 5)2(log2  xy        

 

[D] 2)5(log2  xy   [E] None of these 

 

16) Identify the asymptote of: 3)4(log2  xy  

  

[A] 3x   [B] 4x   [C] 4y   [D] 3y   [E] None of these 

 

17) Identify the asymptote of: 6
2

1
4











x

y  [A] 4x  [B] 6x  [C] 4y  [D] 6y  

 

18) Write in exponential form: xy 2log  [A] yx 2  [B] xy 2  [C] 2yx   [D] yx2   
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19) Write in the logarithmic form: 253 x  [A] 3log25 x   [B] 325log x  [C] x25log3

  

      [D] 25log3 x              [E] None of these 

 

20) Use log properties to evaluate 18loga if 2789.02log a and 4421.03log a . 

 

[A] 1631.1   [B] 2466.0   [C] 0349.0   [D] 4420.1   [E] None of these 
 

21) Solve: 8127 x     [A] 
4

3x   [B] 
3

1x   [C] 
3

4x   

 

      [D] 
3

2x
  

[E] None of these 

 

22) Solve: )24ln()53ln()7ln( xxx   [A] 
11

6x   [B] 
3

7x   [C] 5,
3

7 x   

 

      [D] 5 ,
11

6x
  

[E] None of these 

 

23) Given a triangle with ,123 and ,63,47 00  cBA find a. 

 

[A] 6.88   [B] 7.95   [C] 6.82   [D] 1.112    [E] None of these 
 

24) Given a triangle with ,3.60 and ,2.59,740  caA find B. 

 

[A] 00 7.101,3.78  [B] 00 7.27,3.4      [C] 00 3.106,7.73  [D] 00 3.0,3.32   [E] No Δ possible 

 
25) Given a triangle with ,22 and ,4,19  cba find C. 

 

[A] 04.117   [B] 01.132       [C] 02.87    [D] 07.99      [E] None of these 
 

26) Determine the quadrant in which the terminal side of an angle of 0225 lies. 
 
[A] Q I   [B] Q II              [C] Q III  [D] Q IV     [E] Lies on an axis 
 

27) Find a reference angle for 
6

17
 [A] 

p

3
  [B] 

2p

3
     [C] 

p

6
   [D] 

p

2
 [E] None of these 

 

28) If 
7

4
sin   find .cot  

p

2
£q £ p   [A] 

4

33
   [B] 

33

334
              [C] 

4

33
 

      [D] 
33

334

  
[E] None of these 
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29) Given 
3

4
tan   and .0sin   find cosq. [A] 

3

5
   [B] -

4

5
      [C] 

4

5
   

      [D] -
3

5
       [E] None of these 

 

30) Find the exact value of .
4

7
sec


  [A] -

3

2
  [B] - 3             [C] 

2

2
   

      [D] -
3

3
     [E] None of these 

31) Evaluate: 









2

1
arcsin    [A] 

p

6
   [B] 

p

3
                  [C] -

p

3
 

      [D] 
2p

3
   [E] None of these 

32) Evaluate: 








8

3
arctansin    [A] 

3

8
   [B] 

8

73
      [C] 

55

553
  

      [D] 
73

733
  [E] None of these 

 

33) Add and simplify: 
xx cos1

1

cos1

1





 [A] 

xcos1

2


  [B] 0       [C] xxcsccot2  

 

[D] x2csc2   [E] None of these 
 

34) Simplify. 2secsec 24  xx   [A] x2tan2   [B]   xx 22 tan2sec     
       

[C] x4tan2   [D] 2tan2 x   [E] None of these 
 

35) Simplify: 
sin x - sin3 x

cos4 x+ cos2 xsin2 x
  [A] sin x   [B] cosx          [C] sin2 x  

      [D] tan xsin x        [E] None of these 
 

36) Find all solutions for cos2 x- cos2 x-sin2 x( ) = 0 on the interval [0,2p ).  

 

[A] 0,p   [B] 0,
p

2
,
3p

2
           [C] 1,-1   [D] 

p

6
,
5p

6
,
7p

6
,
11p

6
 [E] None of these 

 

37) Find all solutions for cos2 x-5sin x+5 = 0  on the interval [0,2p ).  

 

[A] 
p

6
,
3p

2
  [B] 0,

p

3
,
2p

3
     [C] 

3p

4
,
7p

4
    [D] 

p

2
      [E] None of these 
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38) Find all solutions for tan x-cot x = 0 on the interval [0,p ]. 
 

[A] 
p

4
,
3p

4
  [B] 

p

6
,
5p

6
           [C] 

p

3
,
2p

3
    [D] 0,

p

2
,p   [E] None of these 

 

39) Simplify: sin
3p

2
+ x

æ

è
ç

ö

ø
÷   [A] -sin x   [B] -cosx             [C] sin

3p

2
+sin x  

[D] -cosx-sin x [E] None of these 
 

40) Given sinu = -
5

13
,p < u <

3p

2
 and cscv =

10

3
,
p

2
< v < p,use a sum/difference formula to findsin(u+v). 

[A] -
3 10

130
  [B] -

27 10

130
            [C] 

27 10

130
      [D] 

-120 +13 10

130
 [E] None of these 

 
41) Two ships leave a port at 9 AM. One travels at a bearing of N43°W at 10 miles per hour, and the other travels at a 

bearing of S67°W at 16 miles per hour. Approximately how far apart are they at noon? Round to the nearest mile. 
 
[A] 22 miles  [B] 47 miles  [C] 7 miles  [D] 15 miles  [E] None of these 
 


